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TE P Ue0G  |EERIETE EA4-31 2 2l 100% 49 86.8
TE G68 | AEBE TAEHAIUAT WFEFT 14 8| 57.14% 431 88.8
TE P G67 | WEETAEHAIUAT WFEFT 16 10/ 62.50% 4.77 86.5
TE G65 (EETEEZ WFEFT 17 12| 70.59% 4.85 82.5
TEpE G63 |BIETEEA WFEFT 20 14 70% 4.49 86.4
TEpE G66 | PIRIFIEREL TR £ WFEFT 21 14| 66.67% 4.62 82.9
TEpE Ues (EETEEZ 2431 18 15| 83.33% 4.29 77
TEpE U66 (PRI EL TAZER 21 2431 18 17| 94.44% 448 82.4
= GOl | PR TAZEE A WFEFT 22 17| 77.27% 4.53 71.6
TEpE U63  |[BRETIEEA 243t 24 21 87.50% 4.28 82.7
TEpE G62 | EATREEZ WFEFT 38 25| 65.79% 4.62 85.2
TEpE U62 | HARTEEZ 243t 34 34/ 100% 4.34 76.9
TE U6l | TAZEE 2 243t 46 45 97.83% 441 75.5
TE R B60 | TEEBE(RRFEFT) WFEFT 1 1| 100% 442 80
SR G2  |FNEEESCEE A WFEFT 5 4 80% 471 83
SCEE Rt Gl4  |EEEHEHICAT Wr5EFT 7 5 71.43% 0 87.9
SR Gl5 |&E BB EFeAT WHeAT 6 5| 83.33% 4.69 84.7
SR UIOF | &/ A Al 3 8 8 100% 4.77 87.2
SR Gll  |FEE A WFEFT 21 17|  80.95% 4.78 90.2
SR Gl3 |EEEZ% WFEFT 22 17| 77.27% 5 89.8
SRR NOIF | bAIEESE S 21 20 95.24% 4.52 83.7
SRR Ul3  |EEEZ e 3 28 26| 92.86% 4.45 83.3
SRR NIl | FEICEE A HEEER 30 300 100% 4.66 79.8
SRR Ull | FESCE 4 e 3 33 32| 96.97% 4.53 84.2
SRR N12  |[SMEEESCEE 2 HEEES 32 32 100% 4.54 80.2
SRR U12  |(MEEESCEE % e 3 38 38 100% 4.6 84.5
SRR Co5  [EBEHL HAh 99 94| 94.95% 4.52 82.8
SRR Cl0 [P Hth 7 7 100% 4.54 87
AR G19  |EREEE Y& NETICAT W5eFT 15 10|  66.67% 4.75 89.8
AR G58  |AEYMEEEASLAT WH5eFT 23 11| 47.83% 4.82 83.9
AR G55 | FaEutsean WH5eFT 32 14| 43.75% 4.47 82.8
AR G59  |AEVIBEUAT WH5eFT 34 15| 44.12% 0 85.7
AR G52  |EdmRlEA WH5eFT 52 23| 44.23% 0 87.1
AR U2  |EdflE A 243t 50 44 88% 4.45 82.4
AR B30  |A=@nRHERE(WSEFT) W5ERT 2 2 100% 4.78 93.3
TEBUER T GR2 | HEMEHFEIE IR WH5eFT 9 4| 44.44% 4.54 91.3
TEBUER T G91  |ERBERE ARG WH5eFT 12 10[  83.33% 4.77 89.6
TEBUER T G22  |EFREBCARRTEFT W5EFT 23 20, 86.96% 4.82 87.6
TEBUEER T G4 |VEEEA WHZEFT 32 30, 93.75% 4.71 89.6
TEBUEER T V24 [EEEA e 36 36, 100% 4.6 80.6
Bl L M25  |HREREE L HoAthr 21 19| 90.48% 431 87.1




110 B2 AR BRI i & B3 FHEHETR
C98  |[HEFRFEE L HoAthr 296 288  97.30% 4.48 84.8
Gl7  |ZoRRIEEASTRT WHZEFT 6 2| 33.33% 4.39 90.7
G54 |PHEEE A WH5EFT 11 4 36.36% 4.45 87.9
Gl18  |#etEEutsern W5ERT 7 5/ 71.43% 4.5 85
G95S | ERIFIREE TR W5ERT 6 5/ 83.33% 4.63 89
GS0F W5EFT 10 6 60% 0 90.9
G53 |MER#E A W5EFT 15 8 53.33% 4.75 87.1
G51  EE% W5EFT 35 13| 37.14% 4.32 89.5
US4B  |¥HHEE £ 23t 18 14| 77.78% 4.27 76.6
US3G  |FER#E A 243 20 200 100% 4.42 75.4
US4A  |P3EiER 2, 23t 49 471 95.92% 4.32 78.6
U5S3F  |[EF%E A 243 49 491 100% 4.4 73.6
Usl [{E2Z 243 72 64 88.89% 431 79.2
G1l | EIREBEHEEMN Wr5ET 7 5/ 71.43% 0 92.3
NOO  [AFRZBICEBEZLTT) S 29 28] 96.55% 4.62 79.8
=T C30 |REEBEAEFER HoAth 5 5/ 100% 4.37 84.2
=T { G30F | eEse WZEFT 4 1 25% 0 75.2
=T { G4 |EYEEGE LR WZEFT 4 57.14% 4 88.7
=T G39 | hEERERIE A WZEFT 16 5/ 31.25% 4.8 89
=T G50  |BEEEIAT WZEFT 20 6 30% 4.5 90.4
=T G85 B3R 8 6 75% 4.79 92.9
=T G371 BRI A WZEFT 25 7 28% 4.44 88.2
&b G36 |R#E A Wr5ET 16 7 43.75% 4.57 89.8
= U30G  |EMRHE B3 8 7 87.50% 4.6 84
= G33 | B A W5EFT 29 7 24.14% 4.77 87.4
= G31 | W5EFT 19 8 42.11% 4.72 80.8
= G40 |EVIEFEEETIERE A e 21 8 38.10% 4.84 89.3
= G32 |EEEZL W5EFT 25 9 36% 4.74 86.3
= G30G  |EpEpees W5EFT 13 10[  76.92% 4.19 91.2
&b G45  |AEYEEEHETERT Wr5ET 13 12| 92.31% 4.64 89.1
=& U30F | Sistise BT 12 12| 100% 4,71 82.4
=3 U30H KA e 3 14 13| 92.86% 4.57 85.8
=3 G422  [KEfRFFE A WFEFT 24 14| 58.33% 431 87.3
=& G34  |JEHEURE: % WIERT 20 15 75% 4.41 89.7
=3 U344 |[EFRERE A 243t 18 16| 88.89% 4.34 83.6
=& G35  |HEYImREE A WIERT 23 17| 73.91% 4,66 88.2
=3 U3l |BEEL B2 23 18] 78.26% 4.39 82
=3 U36  |EEEAH 243t 21 19| 90.48% 4.58 80.5
=& G43 T ER YRR A WIERT 46 20(  43.48% 4.3 91.1
=3 U33B | #bhEE A EA-3f 23 20 86.96% 4.44 78.1
=3 U33A | BREE 4 243t 22 201 90.91% 4.55 81.9
=3 U40  |EVEFESE TR A 243t 23 22| 95.65% 3.65 78.8
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&b G4l | EYIRHEERSLRT WH7ERT 53 22| 41.51% 4.24 86.7
&b U39 | LBEREREE A A3t 31 22| 70.97% 4.48 86.2
&b U35 |[HEYREEE £ A3t 25 22 88% 4.57 79.6
&b N46  |EPEREE HEEED 24 24/ 100% 4.18 78.6
&b U42  [KEORFEE A A3t 26 25| 96.15% 4.23 76.7
EEk U43  |BEEAEYRRE £ 243t 32 25 78.13% 4.54 82
EER U32  |EEEA 243t 32 29 90.63% 4.38 82.6
EEk U37  |EFE A 243t 34 31 91.18% 4.36 81
EEET GY% | ETAEIASUAT W7ErT 6 1| 16.67% 0 89.9
EEENT G93 | TARATEAT WH5EFT 4 1 25% 4.61 88
BEER | UGF | BHERER -3 4 4 100% 39 79.6
EEENT G56  |ENRIEEEL T AZE A BH5EFT 22 17, 77.27% 4.53 86
EEENT US6  |EAREEEL T2 4 B4t 27 24| 88.89% 4.45 79.8
EEE U4 | TR A -3t 48 35/ 72.92% 443 80.9
EEE Go4 | TR A W5EFT 72 35| 48.61% 4.47 87.9
BT B20  |EHEELE(WHIERT) s 4 40 100% 4.47 86.3
EREE C20 |EHEEERE HoAtlr 18 17| 94.44% 4.47 81
ETREE G261 |RHEHEHATERT s 6 5| 83.33% 4.51 91.8
ETREE G26  |RHCEHEUHATERT s 10 6 60% 4.47 90.3
ETREE G81 | ZEEhEA(E R E T IT T s 9 8 88.89% 4.25 90.2
BT G4 |{THHE A s 9 8 88.89% 4.48 88.2
BT G2l | emiEE % s 17 9 52.94% 0 84.7
BT 021 |5 emiEs % 243t 11 9 81.82% 4.27 80.3
BT G29 |&NEHEA s 14 10[  71.43% 4.47 87.4
BT G23 | REEHEA W7erT 12 10[  83.33% 4.64 89.6
BT G288  |EEHE A W7erT 13 10[  76.92% 4.71 93.3
i U23 | {REEHEA = i 11 11} 100% 4.57 82.6
BT U28 | Falt2Ai = i 12 12 100% 4.17 80.4
BT 029 |EsHEHE A = i 18 14| 77.78% 4.13 83.7
BT Udd  ({TEHEE 2 = i 17 17 100% 4.47 81.4
B | NOIG Al HENEE 25 25| 100% 4.36 78.7
BT G27 W5EAT 34 29| 85.29% 4.58 92.2
BRET 20T G47  |BRESREE AR5t TSR AR 24 7 29.17% 5 90.8
BRET 20T G46  |fEYE A 25T T TSR AR 25 14 56% 5 86.7
BRET 20T G38  |EiEEZ A4 s 47 21| 44.68% 4.51 89.9
BRET 20T U38  |BREEE A -3t 56 54 96.43% 4.62 83.6
e = M33  |[EE=E A 84 82[ 97.62% 4.55 87.1




